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Matematika - A razina
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25. 26. 27. -

(x+3)(x2 —3x+9) 5ﬁ(cosﬁ+isin5j 2,-1,1,2 {—g+2k1t, ke z}

4 4

29.1. 29.2. 30.1. 30.2.

X 30 0.51,0.99 (7, )

31.1. 31.2. 32.1. 32.2.

p<0 = 59 a’

33.1. 33.2. 34.1. 34.2.

A 3 1157.92 20

2

35.1. 35.2. 36.1. 36.2.

~12.4 31°53'42" 648 5
6

37.1. 37.2. 38.1. 38.2.

294 15°2232" Npr. Vektori AB i AC

3,657, 1311, kolinearni su jer za
1965, 2619 svaki me R\{-1,1}

postoji k takav da
vrijedi AC =k-AB.

39.1. 39.2. 40.

5:4ili 4:5 a=3,b=0.6

(x-3) +(y—+3) =12




